Quantum Mechanical Model and Electron Configuration Worksheet
Name:_________________________  Period____  Date_________________
1. What is an orbital?

2. What does n represent about an orbital? 

3. What do s, p, d, and f represent?

4. Write the electron configurations for   Z = 26
5. How many unpaired electrons are in      Carbon? 

Sulfur? 


Oxygen?

6. What is the maximum number of electrons in each of the following?

a) first energy level    

b) second  level




c) third level 


d) the fourth level?

d)How many sublevels in the 1st level? 

2nd? 

3rd? 

  



7. How many orbitals in the “s” subshell (sublevel)? ______ p? ___ 
d? ___  f? ​​​​______
8. What is the maximum number of electrons in the s sublevel? ___ p?  ___ 
d?  ___
f? ___  

9. How many electrons will go into a  2p orbital?

10. Sketch 

a) an s orbital  



b) one p orbital 

11. How many electrons can the fourth energy level hold?

12. a) Do all sublevels within a level have the same energy?  

b) How does the energy of sublevels within a level compare?

13. Consider the third principal energy level of argon.  

How many sublevels are found in this level? 

How many orbitals are found in the 3p sublevel?  

What shape represents a 3p orbital?

14. Write the electron configuration for  a) Ne   b) Na   c) Ar  d) Ca  e) Zn   f) Kr  g) Rb    
15. Write the electron configuration for Na, Ca, Zn and Rb using the noble gas notation.

Note: Noble gas notation:  This is the short way.  Instead of writing out all of the electrons in the configuration, you can write out just the ones since the last noble gas.  Find carbon on the periodic table, and then go backwards until you reach a noble gas.  In this case, it is helium.  We can use a shorthand to indicate all of the electrons that are identical to helium's configuration by putting He in square brackets, and substituting it for those electrons. 
Noble Gas Notation:  C = [He]2s22p2   
